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Travelling home for Christmas,
the Small family made a
journey of 602 miles and took a
car, a plane and a train.

I'he car averaged 45 miles per
our.
he plane averaged 96 miles
per hour.
The train averaged 36 miles per
hour.
I'he plane travelled twice as far
as the train which travelled
twice as far as the car.
How long did the journey
take?

Which of these letters is
the odd one out and Why?

“AFHKLNY 2"

Which 7 letters of the
alphabet do not feature in
the names of any of
Santa’s reindeer?

would it takg 100 ¢lves to
make 100 dolls?

Santa has a favouritg
number.

[t is larger than 18 and
smallgr than 37.

The sum of the digits is 7
It is an odd numbgr

What is Santa’s favourite
number




